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Section A: Multiple Choice Questions (10 marks)
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Section B: Structural Questions (20 marks)

1.
(a)
(i)
It controls all cellular activities.




OR  It contains genetic materials.
………….………………………………………….
1



(ii)
It supports and gives shape to cells.
……………..……………..………………………..
1



(iii)It controls the movement of materials into and out of cells.
…………..…………………
1



(iv)
They help release energy during respiration.
……………..……………..………………..
1



(v)
They contain chlorophyll which absorbs light for photosynthesis.
……………………..
1


(b)
(i)
Cell B is a plant cell.
…………………………………..…………………………………
1




It is because Cell B has cell wall but Cell A does not.
…………………………………
1




Cell B has chloroplasts but Cell A does not.
…..…………………………………………
1



(ii)
Leaf.
………….…………………………………. ……………………………………...
1
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2.
(a)
(i)
Selectively / Differentially permeable membrane
...................……..............................

1


(ii)
Dialysis tubing
…………………………………………………………………………
1


(b)
The liquid level will drop
……………………………………………………………………. 
1



until it reaches the same level of the 20% sucrose solution inside the beaker.
……….…….
1


(c)
The liquid level will rise.
……………………………………………………………….……
1




Water molecules will move from pure water into the 20% sucrose solution

……..…..….
1




through the pig’s bladder membrane
………………..…………………………..……….
1




by osmosis
.
……………………………………………………………………………..
1

It is because the water potential of pure water outside the thistle funnel is higher than


that of the 20% sucrose solution inside the funnel.
……………………..………………
1


(d)
The liquid level will rise but lower than that in (c).
………………………………………….
1



It is because the water potential difference / gradient is smaller than that in (c).
………….
1

























Total 11

